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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 (i)	 Who first observed human chromosome?
		  ‘mZd JwUgyÌm| H$mo gd©àW‘ {H$gZo XoIm?

	 (ii)	 During meiosis when does terminilization occur?
		  {df‘ gyÌr {d^mOZ Ho$ Xm¡amZ Q>a‘rZobmBOoeZ H$~ hmoVm h¡?

	 (iii)	 What is cri-du-chat syndrome?
		  H«$s X² - MV qgS´>mo‘ ³¶m h¡?

	 (iv)	 Name two base analogues.
		  Xmo jma AZwê$nm| Ho$ Zm‘ {b{IE&

	 (v)	 The mutation which does not express itself is ________ .
		  CËn[adV©Z Omo àX{e©V Zht hmoVm ________ H$hbmVm h¡&

	 (vi)	 How Schizocoelous coelom differs from entercoelous 
one?

		  gmBOmo{ñbmo‘ XohJwhm EoÝQ´>mo{ñbmo‘ go H¡$go {^Þ h¡?

	 (vii)	Living specimen can be observed through __________ .
		  Or{dV àmê$n H$mo ________ go XoIm Om gH$Vm h¡&

	 (viii)	Define plasmid, cosmid & cybrid.
		  ßbmO{‘S>, H$mopñ‘S> VWm gmB©{~«S> H$mo n[a^m{fV H$s{OE&

	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&
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2)	 'Kappa particles show an inheritance". Explain
	 "H$ßnm H$U EH$ d§emZwJ{V ~VmVo h¢&'' g‘PmBE&

3)	 Explain supplementary and commplementary genes with 
suitable examples.

	 nyaH$ VWm gånyaH$ OrZm| H$mo {d^o{XV C{MV CXmhaUmo§ Ûmam H$s{OE&

4)	 Explain Neurulation and its types. (Primary and secondary)
	 àmW{‘H$ VWm {ÛVr¶H$ V§[ÌH$m¶Z H$mo g‘PmBE&

5)	 Enumerate mutagens causing changes in gene expression.
	 OrZ àX©eZ ‘| ~Xbmd Ho$ {bE H$maH$m|  ({å¶yQ>mOZ) H$mo g‘PmBE&

6)	 Comment upon		 {Q>ßnUr H$a| …-

	 (i)	 Apoptosis 		 Enm°ßQ>mo{gg

	 (ii)	 Metoplasia	 	 ‘oQ>m°ßbm{g¶m

7)	 Enlist the different stages of gastrulation.
	 H$ÝXþ^dZ H$s {d{^Þ AdñWmAm| H$mo g‘PmBE&

8)	 Explain inheritance of Andelasian fowls. 
	 EÊS>obo{g¶Z ‘wJm] H$s d§emJ{V g‘PmE&

9)	 Write short note on : bKw {Q>ßnUr {b{IE …-

	 (i)	 DNA Library / S>r.EZ.E. bmB©~«oar

	 (ii)	 PCR / nr.gr.Ama.

	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.
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(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 What is differentiation? Explain in detail about morphological, 
Biochemical and Physiological differentiation.

	 {d^oXZ ³¶m h¡? AmH$mar¶§, O¡d agm¶{ZH$ VWm H$m{¶H$s¶ {d^oXZ H$mo 
{dñVma go g‘PmE&

11)	 Describe and classify eggs on the various bases viz. distribution 
of yolk, amount of yolk and type of cleavage. 

	 AÊS>mo§ H$mo dJr©H¥$V H$aZo Ho$ {d{^Þ AmYmam| ¶Wm ¶moH$ H$s ‘mÌm, {dVaU, 
{dXbZ Ho$ àH$ma H$mo Ü¶mZ ‘| aIVo hþE CZHo$ àH$ma ~VmB¶o&

12)	 Explain : g‘PmBE

	 (i) 	 Southern blotting		  gmCXZ© ãbm°qQ>J

	 (ii)	 Northern blotting		  Zm°XZ© ãbm°qQ>J

	 (iii)	 Western blotting		  doñQ>Z© ãbm°qQ>J

	 (iv)	 Restriction mapping	 aopñQ´>³eZ {MÌU
	

13)	 In what way, if any, does the chromosomal determination of 
sex differ in Drosophila and humans? What is cortical reaction, 
and  why is it important?

	 H«$mo‘mogmo‘b "qbJ {ZYm©aU H$m àmê$n ‘mZd VWm S´>mogmo{’$bm ‘| AJa {^Þ 
h¡ Vmo H¡$go? H$m°a{Q>H$b A{^{H«$¶m ³¶m h¡ VWm ³¶m| ‘hÎdnyU© h¡?


